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I ETAY R (H) ¥ S EfE(m) S|
mEh JIPIH] TaiES 867 452 H
mEm JIPIHET I 102-1 1,755 Z At
A= D] JIPIHET i NE] 44-1 154 H
mEh NPT 3]s 115 132 il
mEh JIPSHET e f] 89-1 2,126 il
BE™ JNPIHET PG 661-1 621 H
mEh JNPIHET AR 667-1 955 H
mEh JNPYHET A/ 657-1 1,429 H
mE™ JNPSHET PN 573-1 429 H
mEh JIPIHET KR 670 919 H
mEh JIPIH] A/ 671 1,749 H
mE™ NPT PG 818-1 690 H
mEh JIPIHET g5 55-29 148 il
mEh JIPIH] K2 185-1 1,110 il
mEh JIPIHET KiF 181-1 303 il
mE™ JIPIHET KiZ 272-1 2,265 il
mEh JIPIH] K2 80-5 1,817 il
mEh JIPSHET Kig 78-4 390 il
memh NPT KiZ 78-1 2,370 il
mEh JNPIHET YIZRE 97-1 221 H
mEh JIPSHET A& 96 -2 162 H
BE™ JNPIHET IZRE 104-2 370 H
mEh NPT A& 96 -1 818 H
mEh JIPIH] =25 REY 78 4,144 H
mE™ JIPIHET N 332 1,594 H
mEh JNPIHET 12 335-1 691 H
mEh JIPIH] ERI=r 148-1 1,515 MK
mEh JEFHET e Zf® 138-1 2,369 H




T4 RF(HT) 7 S EfE(m) LS
rI=DE (E AT B] REFRAL 255-8 551 H
mEh [E ] KEFARAL 255-1 551 MK
mE™ E3)Liil) 85 MO 563 1,234 MK
mEh (E AT B] KEF BR 548-1 1,052 H
mEh [E T H] REF AL 498 1,545 MK
mEh ES)Liil) REF AL 499 1,631 H
BE™ iz Jaliil] TR 20-5 634 H
mE™ fs 5 ] TELi# 18-1 1,069 H
mEh iz J=tiil] TZ4E 19-1 1,400 H
mE™ iz Jaliil] T 4E 14-1 387 H
mEh i J=til] hEZE 18-2 76 H
mEh Z IR RH] = 66 978 T A
IIMRETH RS JEIR 68-1 906 H
AN /N=TE E=pEEL) 41 86-1 784 H
MRS R ] JEIR 77-1 988 H
IMRETH FHH T JER 79-1 624 H
IR BT E=pEEL 41 79-1 1,304 H
AN /N=DE R ] R 4 2 641 H
MRS AHRHE] R 25-1 938 H
IMRETH AHARH] AAF 108 914 H
AN /N=DE AARHE] E | 117-1 508 H
IMRET AHRHE] A 123-4 218 MK
IMRETH RARE] A 128 878 H
MRS FHEFH] =H 39-1 413 H
AN/N=DE FHEFE] =H 39-2 413 MK
AREH] i han 66-3 755 H
BREH] Ji:3 had 66—-1 1,048 H
ISP FEHE hSHE RS 7-1 1,196 H
ISP FFHE] hSEHE RS 7-2 33 MK
ISP BEE RER |5 8 16 H
ISP HEHE] PSH RS 9-1 740 H
ISP HEHE] hSHE RS 9-2 16 MK
ISP BEE RER |5 10-1 932 H
ISP RMEHE RER |5 11-1 169 H
ISP FEHE] hSHE RS 13 548 MK
ISP HEHE] REH  |RS 14 1,209 H
ISP RFEHE SR | KM 28-1 530 H
ISP FAFHE] hSHE | KU 29-1 236 MK
ISP REHE hER | KM 30-1 651 H
ISP REHE SR | KM 32-1 429 H
ISP FAFHE] hSHE | KU 51 588 H




T4 RF(HT) 7 S EfE(m) LS
ISP WEH RSHE | KK 52 604 H
ISP FAFHE] hSHE | KU 54 95 H
ISP FAFHE] hSHE | KU 55 69 MK
ISP RFHE SR | KM 26-1 664 H
ISP FAFHE] hSHE | KU 27-1 429 H
ISP FAFHE] hSHE | KU 31-1 511 MK
ISP RFEHE hER | KM 53-1 657 H
ISP REHE hER | KM 83 158 H
ISP FEHE hSH |EE 40 188 H
ISP REE hEAR  |BY 41-1 896 H
ISP WEH hSH  |BE 42-1 1,329 H
ISP KRBT IR | AKIGH 2 1,077 MK
ISP ARRE]  BRE | AKNI5ED 3 1,676 H
ISP RFFE]  $RE | ANSE] 4-2 9.91 H
ISP AV 71N 1= = I b 2T 1-2 1,477 MK
ISP AFRE] BafGsE (428 76 875 53]
ISP AHE] G  [HB/ K 2-1 310 H
ISP KirE] G [SROR 3 2,733 H
ISF9™H KArE] R |ROR 11-1 1,055 H
ISP KAH]  EREHE |ROR 11-2 1,033 H
ISP KrE] HREEHE [SROR 56 51 il
ISP KFRE]  BREGEE | KR 12 991 MK
ISP AFFE]  ERESEE | KR 32 953 H
ISP AFRHT )10z gt 498-2 13 H
ISP KFRE] |05 Fmigtt 498-1 878 MK
ISP KAE] HBE  |hA 125-1 101 il
ISP K] 4+BS  |hA 127-1 419 H
ISP KiFE] +2BS  |hR 128-1 1,351 H
ISP AiFE] +2B5  |PA 129 132 il
ISP AHHE] B8 |PAE 131-2 668 H
ISP REE] KK |7REF 375-1 1,462 H
ISP KEH KE |/ 66-1 1,042 A
PaEa T Ba]3A b BT I 14-1 720 H
Palra ™ BafA b B] HiIFH 15-1 168 H
PaEa T Baf#A L BT HITE 15-2 94 MK
PaEa T Ba]3A b BT ohAY 19-1 849 H
BalEa ™ Baf%A L BT ohAY 18 558 H
PaEa T FhEFH] Fhith 27-5 407 MK
PaIEg T FEFHE] Foith 130 1,685 H
BalEg T FhEFH] Fait 138 2,981 H
Para T FhEFH] [LE 94 1,201 H




T4 RF(HT) 7 S EfE(m) LS
PaEa T FhEFH] [LE 102 810 MK
Palra T SEEPH] HOR 15-1 600 H
PaEa T SEEFH] HOR 15-2 844 MK
BalEa ™ SEEFH] ScH 73-1 20 3]
Para T SEEFH] S 73-2 872 R3]
PaEa T = HH] b 136-1 1,309 MK
Balra ™ = HH] b 152 1,090 H
Palra™ = HH] S hEkE 57-1 892 R3]
PaEa T = HHT S sy 8-1 1,305 MK
Balra ™ ] S ok 134-1 658 H
BalEa ™ FHH] S lLodt 137-1 698 3]
PaEa T = HHT S lodt 266-2 651 MK
BalEa ™ = HH] S ok 266—-4 36 il
(0= = HH] S 1odt 305-8 634 il
PaEa T = HH] S gk 305-9 396 il
Balra ™ = HH] S ok 305-10 396 il
BalEa ™ = HH] S ok 305-16 198 il
Palra ™ ==z i) S EJR 1-2 52 MK
PaEa T = HH] Sm EJIR 1-3 1,083 il
Balra ™ = HH] S EJIR 1-5 442 A
Palra™ T S EJR 18-2 1,417 3]
PaEa T = HH] IR 43-1 730 MK
Balra ™ = HH] IR 43-2 61 H
Palra™ & [E]H] Rt 52-1 670 R3]
PalEa T =[] ] Rt 56-1 325 MK
Balra ™ = [E]H] RitA 13-2 1,609 H
Palra ™ &= [E]H] Bt 24 567 MK
Palra T = [E]H] et 14-1 1,430 H
PaEa T ABE) I H] izl 142-1 1,266 MK
BalEa ™ BRE) || H] izl 148-3 604 MK
Para T ABE I H] [iz))3 178-1 1,543 R3]
PaEa T ABE) 1] izl 177-1 1,282 MK
BalEa ™ BRE) | [H] izl 244-1 737 MK
Palra ™ ABE) I H] [z} 530-1 826 MK
PaEa T ABE) I H] izl 530-2 23 MK
Balra ™ BRE) | H] izl 145-1 419 H
BalEa ™ BRE) || H] h5 1704-1 449 3]
PaEa T HBE) I H] hE 1765-5 142 MK
BalEa ™ ABE )| H] h5 1769-1 692 H
Balra ™ BRE) || H] RS 111-1 1,275 MK
Para T HBE ) H] JthS 111-2 330 3]




T4 RF(HT) 7 S EfE(m) LS
BalEg T ABE) | H] b5 134 3,060 H
Palra T ABE ) H] RS 135-1 735 H
PaEa T ABE) | H] S 333 2,430 MK
PaEa T BRE) || H] PU)ES 737 618 H
Para T ABE I H] [iz))3 320 661 H
PaEa T ABE) 1] [iz))3 321-1 287 MK
PaEa T BRE) | H] izl 381-1 1,223 H
BalEg T ABE) || H] FaR 525-1 1,356 H
(0=l ABE) || H] PR 557-1 1,859 =
PaEa T BRE) || H] izl 625-1 1,352 H
BalEg T LLICTHT =i 29-1 631 H
PaEa T L1 T E] EIETTF 50 895 H
BalEa ™ N[ RE 95-3 353 53]
(0= T[] FE 95-7 144 H
PaEa T BRI i) RE J\5A 10&1 939 H
Balra ™ P ] hE J\5A 9F1 468 53]
BalEa ™ B T hE J\5A 9% 2 173 H
Palra ™ RRA:L:il] hE J\5A 9%6 80 H
PaEa T P ] RE J\5A 1182 (—8) 165 H
Balra ™ B T RE IR 25-1 948 H
Palra™ RRA:L:il] RE N 25-2 15 H
PaEa T P ] hE A 18 836 MK
Balra ™ B T tE bR 20-1 1,464 H
Palra™ RRA:L:il] thE A 20-2 436 MK
PalEa T P ] hE  bEA 34-3 766 MK
Balra ™ 3 T tE A 41-1 271 MK
Palra ™ B T tE A 42-1 138 H
Palra T RRA:L:il] tE A 43 581 H
PaEa T P ] HE bR 45 1,646 MK
BalEa ™ B T tE A 46-1 601 H
Para T RRA:L:il] tE A 47 403 H
PaEa T P ] HE bR 48 700 MK
BalEa ™ B T tE A 49 614 H
Palra ™ RRA:L:il] tE A 50 376 H
PaEa T P ] HE bR 65-3 647 MK
PaEa T B T hE CULEX 26 1,306 FH
BalEa ™ RRA:L:il] hE ZUEX 28-2 112 H
PaEa T BRI i) hE CULEX 28-3 92 H
PaEa T 3 T hE CULEX 29 340 H
PalRa T B T hE ZUEX 33-1 348 FH
Para T BRI i) hE CULEX 33-5 43 H




T4 RF(HT) 7 S EfE(m) LS
PaEa T B T E ZUEX 34-1 2,099 FH
Palra T RRA:L:il] E UOHO<E 14-1 1,853 H
PaEa T P ] ai tki 7 4 1,004 FH
PaEa T B T ahh tki 75 1,163 FH
Para T P ] A tki 76 856 H
PaEa T P ] 5oE s 29 763 H
Balra ™ B T oE e 35-1 1,111 53
Palra™ RRA:L:il] BAR 324-1 1,420 FH
PaEa T P ] BAR 324-5 407 H
Balra ™ 3 T BAR 324-6 113 FH
BalEg T fRFHH] Ba 93-1 528 H
PaEa T =Eatill B 94 1,692 MK
PaIEg T i=padiil] Ba 123 300 H
(0= i=Eadil] B&H 124 254 H
PaEa T =Eatill B 125 737 H
PaEa T =patill B 126-2 793 53]
BalEg T fRFHH] Ba 147-1 449 H
BalEgTh faFFH] B& 147-2 115 H
PaEa T =patill B&H 147-3 29 MK
PaEa T =padiill Bu 147-4 36 H
BalEg T faFHH] B& 165-2 109 H
PaEa T =patill Bu 175 376 MK
PaEa T =padiill B&a 176 452 H
BalEg T HISH] M) IR 76 1,289 H
PalEa T HISH] B IR 77 760 MK
PaEa T HISHE] =R 50 1,090 H
PaEa T HISH] =R 51 1,276 H
Palra T HISH] B 79-1 3,470 H
PaEa T HISHE] =R 80-1 1,775 MK
PaEa T HISH] =R 82 654 H
Para T =gadil WET 56 975 H
PaEa T R HEMRHE] 3% 74-1 239 MK
PaEa T RAEARE] =H 66 2939 H
Palra ™ SR THIEEH] RE 661-2 1806 H
PaEa T PAZRHE] T= 33-1 1243 MK
BaIEg T atesliil] R 369-1 1,679 H
BalEa ™ Halil:il) thR 372-1 2,108 H
PaEa T Malsiliil) ohR 377 476 MK
PaEa T Salsilil) S 788 1,461 H
PalRa T ialasliil} S 489-1 82 H
Para T Maliliil) S 790 89 H




gD A= (HT) ¥ s HEFE(mM) HHE
iEEzNs] lalseliil} 1] 791 1,289 H
PalRa lal=sliil) IS 347-1 674 M
iD=zl b ehE] El5) 347-2 330 5
iBEzNs] lalseliil} 1] 311 333 M
PalRa lal=eliil) IS 312 720 H
PalEa ™ L HRH] 1= 316-5 395 H
(E[EzNs] b ehE] 1] 277-1 1,001 H
PalRa lal=eliil) [ 482 733 H
PalEa Hal=eliil) [} 490-1 1,007 M
iEEzNs] b ehE] [ 240 671 H
iB[EzNs] lal=sl:il) [ 312-1 1,185 H
iBEzNs] RAH % 98-1 493 5
(E[EzNs] R4H] % 98-2 4 H
BalEg T RAH] 35 98-3 7 H
iB[EzN] F4H] 5 98-4 1,627 5
iE[E=Ns] R4H] % 98-5 1,246 H
PrIRS ™ R4H] % 130 1,029 8
PalRa BRES) || E] R 91 1,646 5
iD= BRES) || ] IR 93-1 960 H
iBEzNs] BRES) || E] I 142 1,117 H
iB[EzN] BRES) || E] R 200 1,322 M
PalEa BRES) || E] R 207 1,206 H
iD=l TREFE] =% 84 42 H
=) LLiJ 11T HE 82-1 2,020 M
] iEpdl] HiE 126-3 730 H
B3R iEpgil] EXF 310-1 1,086 gl
Bl iEpgil] EXF 427 1,253 H
B3Rz ] 35z T EFXF 92-1 305 H
iEpGH iEpgil] AR 48-3 498 5
Bl iEpgil] 51T 73 1,834 5
Ba3Rz Ba] 357 ] B[ dFi] 69-1 458 H
Ba[3Rz rf iEpdl] B| o] 70-1 174 H
Bl iEpgil] B[ o] 75-1 480 gl
Pal3Rz i o 352 ] =ith 57-1 1,130 H
Pal3Rz i a2 ] +E=4 278-1 931 H
Bl iEpgil] +Zith 278-3 86 H
Bl Ba] 37 ] 2| 339-1 840 il
Y] Ba] 37 ] =i 126 749 2
Bl iEpgil] hEIg 265-3 1,206 H
Bl iEpgil] hEIg 265-38 582 5
Y] [a] 35z T Lis=153 10-1 454 5




T4 RF(HT) 7 S EfE(m) LS
BaliRe T Ba]3sZ BT 2y 2 87 772 il
BalRz T Bal3sZE] PER 97 499 il
Baf3Rz Baf 5z ] FEAR 95-1 164 il
Balise T Ba]3sZ BT 2y 2 89 1,033 il
Balise T Ba]3sZE] =AY 43-1 905 H
Baf3Rz Baf 5z T FRE 154 632 MK
BaliRe T Ba]3sZ E] FREA 49-1 958 H
Balise T Ba]3sZ B] FRA 49-2 404 H
BalRz Baf3sZ E] JeEEE 67 862 Z DAt
BaliRe T Ba]3sZ E] BAes 125 899 MK
BalRz B3Rz Y RN 126 208 H
BalRz Bal3sZE] Aas 154 450 MK
BaliRZ T Ba]3sZ E] il= 62-1 1,019 H
Balise T Bal3sZ BT EFI 75-1 693 il
PalRz Baf3sZ E] AR 17-1 432 H
BaliRe T Ba]3sZ E] l=E 269-1 914 il
Balise T Ba]3sZ E] l=E 269-2 782 il
Balise T Bal3sZE] l=E 296-1 894 il
Pafise Baf3sZ E] l=E 310-1 648 il
BaliRe T Ba]3sZ BT l=E 311-2 905 H
Balise Bal3sZ B] l=E 312-1 506 il
PalRz Baf3sZE] l=E 313-1 574 MK
BaliRe T Ba]3sZ E] l=E 325 727 H
Balise T Ba]3sZ B] H=E 327 805 il
BalRe Bal3Rz H] E 328 2,061 =
BaliRe T Ba]3sZ E] l=E 278 1,965 H
BaliRe T Ba]3sZ B] LR 69 340 A
BalRz T Bay3sZE] LR 202-1 1,202 H
Baf3Rz Baf 35z ] 1)z 195-1 556 MK
Balise T Ba]3sZ BT T}z 311-4 16 H
Balise T Ba]3sZE] T=XE 151 2,963 H
Baf3Rz Baf 5z T ZH] 29-1 675 MK
Balise T Ba] 32 BT ZH] 194-1 845 H
Balise T Bal3sZE] ZH] 201-1 904 H
Palise Baf3sZ E] ZH] 256-1 870 MK
BaliRe T Ba]3sZ BT JREAJR 57 709 H
Balise T Bal3sZ B] JREAJR 58 651 H
BalRz Bal3sZE] FREAR 60-1 697 MK
BaliRZ T Ba]3sZ E] JREAJR 60-2 460 H
Balise T Ba]3sZ BT BREAR 173 3,115 H
PalRz Dt F=%R HE 1880-2 167 il




T4 RF(HT) 7 S EfE(m) LS
BalRz iz ] &k ME 1880-3 399 il
Pafisz petZlil FE=%K HE 1911-1 563 H
Baf3Rz 5 H] FE%k HE 1911-2 53 MK
BalRz T iz ] &k ME 1914-4 853 H
Balise T i ] = ST 407-1 466 H
Baf3Rz 5 H] hi%  EIE 194 391 MK
BaliRe T 5 H] % HIfh 195-1 624 H
BaliRz T iz ] iz LEFE 230-1 356 H
Pafisz Dt iz LEFE 431 506 MK
Baf3gz iz H] hiz  EEFER 444-1 970 H
Balise T iz H] iz ¥R 571 185 H
Balise Dt iz LEFE 572 261 MK
Baf3Rz iz ] iz EEFER 573-1 544 H
Balise T iz H] iz ¥R 573-2 486 H
BalisZ Dt iz LEFE 600-2 674 H
BaliRe T % H] iz EEFE 628-3 509 53]
BaliRz iz ] sz PR 636—-1 289 H
Balise T Dt M5  _EFFER 639-1 215 H
Pafise iz ] iz LEFPER 462-1 179 il
BalRz T DiZLil] sz LEFE 462-4 380 il
Balise iz H] % _EFFER 420-1 1,523 H
Palise iz ] iz _EFFER 438-1 1,022 MK
BaliRe T 5 H] hiz  EEFER 103-1 1,119 H
Balise T iz ] %  _EFFER 119-1 1,004 H
Pafise iz ] % _E¥FER 117-1 821 MK
PalRz T iz ] iz  LEFER 110-1 999 =
BalRz T iz ] iz PR 109-1 838 H
Pafise Dt M5  _EFFER 108-1 1,111 H
Baf3Rz % H] hiz  LEFE 102 641 MK
Baf3gz iz H] iz EFFER 590 934 H
Balise T i ] M5  _EFFER 593 426 H
Baf3Rz 5 H] iz EEFER 281-3 80 MK
BaliRz iz ] iz PR 283-1 230 H
Balise T Dt M5  _EFFER 339-2 489 H
Palise iz ] g K 23-1 677 MK
BaliRe T g H] g K 23-4 947 H
Balise T iz H] g = 114-1 543 H
Balise Dt (Ea= I EUYN 128-1 667 H
BaliRZ T % H] FH TR 129-1 276 H
PafiRz iz H] R A 69-1 987 H
Balise Dt &x RHE 161 1,547 H




T4 RF(HT) 7 S EfE(m) LS
Baf3Rz 5 H] &x FH 162 645 H
Pafisz petZlil &BX AR 80-1 299 il
Baf3Rz 5 H] &HX AR 80-2 75 il
Baf3gz 5 H] &E AR 81 136 il
Balise T i ] &X AR 82 447 il
Baf3Rz 5 H] &HX AR 83-4 82 A
PalRz T iz ] BHE MER 21-1 960 =
Balise T iz ] BHE MER 26-1 656 H
Pafisz Dt BHE MUER 26-2 1,018 H
Baf3gz % H] BE MER 115-1 742 H
Balise T iz H] BHE MER 115-3 331 H
Balise Dt BHE MUER 116 769 MK
Baf3Rz g H] BE MER 118 1,437 H
Balise T iz H] BHE MER 23-2 462 il
BalisZ Dt g PR 71 724 MK
Baf3Rz % H] g PR 64 2,429 53]
Baf3Rz s ] lLEF L RIK 67 830 H
Balise T Dt lLEFE RN 68 970 H
Pafise iz ] \LEFE RIL 72-1 856 MK
Baf3Rz 3 iz H] WLEF E RIK 88 993 H
Balise iz H] lLEFE RN 89-3 484 H
Palise iz ] Kz R 88-1 279 MK
Baf3Rz 5 H] KR =R 101-1 396 H
Balise T iz ] Kz A 104-2 96 H
Pafise iz ] N 108-2 8.78 MK
Baf3gz iz ] KR =R 104-3 70 il
BafiRz iz ] PNV 104-38 312 A
Pafise Dt K= =R 105-1 352 il
Baf3Rz % H] KR =R 105-4 8.03 il
Baf3gz iz H] PNV 105-5 29 il
Balise T i ] K= A 105-6 20 il
Baf3Rz 5 H] NIV 106-1 135 A
Baf3Rz s ] KR WLES 1-1 498 il
Balise T Dt A= LS 194-2 745 il
Palise iz ] iz FJTF 1023 884 MK
Baf3Rz 3 g H] Q= 275-3 1,046 H
Balise T iz H] Kx AN 98 1,904 H
BalRz Dt BE  FHE 5 633 il
Baf3Rz % H] Fls  EHE 6 552 il
PafiRz 5 H] g EBHE 7 579 il
PalRz Dt BE  BHE 9 999 il




T4 RF(HT) 7 S EfE(m) LS
BaliRe T iz H] AREFE #2/80 100-4 864 H
BalRz T petZlil AEFE 280 7-1 677 H
Baf3Rz 5 H] AHFS I8 123-2 1,304 MK
Balise T 5 H] RS R 7-1 690 H
Balise T i ] AHE PR 7-2 627 H
Baf3Rz 5 H] AHFS X# 181 1,023 MK
BaliRe T iz ] AHFS X# 193-1 1,310 H
Balise T iz ] AFE KA 23 736 il
BalRz T ARHT A EF 22 956 MK
BaliRe T T RkH] WH #&F 27-1 984 H
Balise T T AkHT WH BF 31 785 H
BalRz T ARHT WH #H 104-2 685 il
BaliRZ T T RkH] WH #H 124-1 656 il
Balise T T RkHT IRk T 17 1,029 H
PalRz T ARHT TRk AR 100-1 851 H
BaliRe T T AkH] Thk AR 104-1 1,251 53]
Balise T T RkH] Thk AR 106-2 278 H
Balise T T AkH] Ak AR 59-1 149 il
Pafise T AkH] A AR 62-1 597 il
BaliRe T T RkH] TRk AR 62-2 590 il
Balise T AkHT Thk AR 28-1 1,074 il
PalRz T AkHE] Thk RIA 86-1 598 H
BaliRe T T RkH] Thk AR 86 -2 1,177 H
Balise T T AkH] Trk =7 14-1 553 H
BalRz TARHT TRk HIH 154-1 694 il
BaliRe T T RkH] TRk HBIE 177-9 558 M
BaliRe T T RkH] TRk HBIE 182-1 991 A
BalRz T T ARHT TRk I 65-1 702 il
Baf3Rz TRk HE] Thk =T 63-1 636 il
Balise T T RkH] Trk =% 149-2 1,417 H
Balise T T ARHT TRk FL 168 485 H
Baf3Rz T AkHE] Ak FLIL 169-1 85 MK
Balise T T RkH] Irk =RIR 107-1 1,110 H
Balise T T AkH] M K% 1336-1 950 H
Palise T AkHE] BE K% 1337-1 812 MK
BaliRe T T RkH] £ HhE] 511 582 H
BalRz P& HT £B  ChHE] 512-1 345 H
BalRz T ARHT £ o] 514-1 399 MK
BaliRZ T T RkH] £ o] 515-1 854 H
Balise T T RkH] A8 ohHE] 515-2 376 H
PalRz T AiHT £ o] 517 153 H




T4 RF(HT) 7 S EfE(m) LS
BalRz T ARHT £B  ChHE] 516-1 690 H
BalRz T T ARHT (Il 518 161 H
Baf3Rz TRk HE] B 2ZAnED 531-1 781 MK
Balise T T RkH] KE  H#k 18-1 2,272 H
BalRz T 7] SH —Di 134-2 847 H
Baf3Rz il =H AR 176-1 449 MK
BaliRe T T RkH] SH AR 34-2 1,792 H
Balise T T ARHT =)W 5H 7 649 H
BalRz T ARHT =) &HH 6-1 951 MK
BaliRe T T RkH] =)W &HH 6-2 641 H
Balise T T AkHT 2R EER 55-1 1,058 H
BalRz T ARHT 2R L 16-1 1,000 MK
BaliRZ T T RkH] =H #FERD— |41-1 1,192 H
Balise T T RkHT =H #HFESD— |95-3 644 H
PalRz T ARHT A EREY 1619-1 969 H
PalRz T T RRHT it EH 171-1 1,119 H
Balise T T RkH] At EH 210 409 H
Balise T T AkH] At KfiniE 1838 544 H
Pafise T AkH] it KA 1840-3 547 MK
BaliRe T T RkH] it KA 1837 347 H
Balise T AkHT it WES 2278 560 MK
PalRz TARHT i ES 2279 508 MK
BaliRe T T RkH] it NES 2281 280 H
Balise T T AkH] st =M 230 869 H
BalRz =taiil IR NS 323-2 318 MK
BaliRe T =tatill R = IR 360-1 346 H
BaliRe T SEFH] fhR  dbZ5 60-1 101 H
BalRz T =taiil fiiflR J\bJIR 101-1 1,229 H
Baf3Rz =taiil h%k WK 279 561 MK
Balise T SEFH] A% R 560 251 H
Balise T SEFH] A% dbR 575-2 648 H
Baf3Rz =taiil A% R 577-3 247 MK
Balise T SEFH] A% R 581-3 81 il
Balise T S EFH] A% dtR 485-7-8 897 H
Palise =taiil L% msB 273-1 635 il
BaliRe T SEFH] h%k m/RK 776 1,140 H
Balise T SEFH] [ZE S 1 21-1 952 H
BalRz =5l [ZE SO 1 56-1 628 H
BaliRZ T =tatill [iZE S P 13-1 96 H
Balise T SEFH] [iiZE S P 15-1 56 H
PalRz =gaiil [ZE S 16-1 52 H




T4 RF(HT) 7 S EfE(m) LS
BaliRe T SEFH] [ZE S 126-2 29 H
BalRz T =taiil [ZE S 126-3 330 MK
Baf3Rz =taiil 2 S 7! 50-1 799 MK
Balise T SEFH] [ii2E S i 94-1 721 H
Balise T SEFH] [ZE SN 97-1 540 H
Baf3Rz =taiil [i2E S i 99-1 1,117 MK
BaliRe T SEFH] [iZE SN S EH 71-1 1,460 H
Balise T SEFH] [EESIPN S 20 71-4 1,200 MK
BalRz =taiil [ZE S/ 132 1,074 MK
BaliRe T =tatill [ZE S 7 76-3 172 H
Balise T SEFH] [EESE 78-1 839 H
BalRz =5l [iZE S | 17 499 MK
BaliRZ T =tatill [EiZE S o] 22 436 H
Balise T SEFH] [iZE S o] 25-1 330 H
PalRz =5l 2 S o] 28-2 762 H
BaliRe T =talill 2 S o] 40-1 333 53]
BaliRz S EFH] [EiZE - | 60-1 684 H
Balise T SEFH] [iZE SO 60-3 10 H
Pafise =talill 2 S o] 61-1 191 MK
BaliRe T SEFH] [i2E S o] 61-2 10 H
Balise SEFH] mE KA 30-1 624 il
PalRz =talill 2 S = 30-3 16 il
BaliRe T SEFH] [ZE =N 26-1 442 53]
Balise T SEFH] s RAM 26-2 730 MK
BalRz =taiil . RAM 26-3 16 MK
BaliRe T =tatill sk EREEERT 163-1 683 H
BaliRe T SEFH] [ZES:E 19-1 1,354 A
PalRz S EFH] [iZE 57 180-1 1,914 H
Baf3Rz =taiil [ZES:E 182-1 764 MK
Balise T SEFH] [ZE SIS 189-1 790 3]
Balise T SEFH] S-S I 191-1 837 H
EEh RG] ZEEM 10-1 566 MK
E3ENH EREH] ZRED 10-2 532 H
EEh EEH] FEEM 11-1 504 H
=27 EIGH] ZLEM 25-1 279 MK
ESENH EREH] ZRED 26-1 350 H
EJeenE EFEH] FEEM 28-1 635 H
EHE L] SEED 31-2 105 MK
EEmh RG] EANE 6 4 1,426 il
E£KBm SEREH] EANE 70-2 948 il
EEm FRA T A WSREE 4159-1 1,074 H




T4 RF(HT) 7 S EfE(m) LS
EEh BT AR =2/F KEME 4131-1 657 MK
EHEh BT dbE AHF 1153 565 3]
EEh T b AHF 1170-3 964 H
EEh FRET bR [ 1098 419 MK
EHEh fRRET bE SR 26-1 727 R3]
=5 fRRET  dbE SR 27 371 M
EEh i) R IH 79 888 H
EEh rstiin) IR 2074-1 2,185 MK
EHEh rstiia) Bl% 312-2 853 MK
EEh st B21% 320 866 H
EHEh i) B1% 234-2 375 K
EHE st B1l% 199 509 3]
EEh i) B21% 282 371 H
=iFh =57H] ATIEF HRK 726 995 MK
=4 —$7H] XTI A 1173-1 427 H
=4Fh =EFH] X7IEF HBOE 504-1 169 il
=iFh =57H] A7IEF HBOE 505-1 171 il
=¥ =HFH] X7NE HBaes 1695-5 463 Z At
FEs R HT il = 4-1 1,463 MK
R R HT iliES = 4-2 72 H
BFHH] E5HH PERM 1089-41 1,481 il
GFHH] EEM AR 1018-1 338 il
GFHHE] EEHH FEREM 1020-1 550 M
GFHH] | FERM 1027 1,715 il
GFHH] EEHH R 1028 1,162 il
GFHHE] i FAEM 1046-1 792 M
aFH] EE A REM 27-1 1,294 il
GFHH] E5HH REM 29 1,069 il
GFHH] B = 343-4 709 il
ol EEH = 818-1 927 il
GFHH] | = 817-1 1,733 il
GFHH] EEHH = 1366-1 1,227 M
BFHH] ESH = 1396-1 1,281 il
BFHH] | = 1284-1 1,250 il
GFHH] ECHH = 1112-1 755 il
BFHHE] ESHH = 1069-1 1,669 A
AFH] E5HH = 704 1,395 il
GFHH] E5H Bt 115-1 975 3]
GFHHE] B Coan 256-2 301 il
ol aH aH 2348 1,130 MK
GFHH] aH aF 2332-1 402 3]




T4 RF(HT) 7 S EfE(m) LS
AFHH] aH aH 2336 411 MK
GFHH] aH aF 2350-1 922 3]
GFHH] aHF aHF 2358-1 1,895 H
ol aH WA 505 624 MK
GFHH] aH /A 516-2 85 il
GFHH] aHF /A 520-1 625 3]
GFHHE] aHF /A 279-1 233 H
GFHH] aH /A 649 520 R3]
GFHH] aH ™A 660 848 MK
GFHHE] aHF A 703 1,139 H
el aH /A 1136-3 198 il
GFHH] aH ™A 210-1 292 3]
GFHHE] aHF A 210-6 5.78 H
el aH WA 210-7 108 MK
GFHH] aH ™A 266—-1 721 3]
GFHH] aHF A 220-1 973 H
BFHH] aH A 224-1 1,167 MK
BFHH] aH [EsF 150-1 683 H
GFHH] Bt A5 24-1 985 H
BFHHE] aHF B 25-1 966 H
BFHH] aH BE 26-3 14 3]
GFHH] I LA 620-1 862 3]
GFHHE] I Eh 581-1 633 H
GFHH] I Ei 6] 679-1 699 R3]
GFHH] I sEh 679-3 259 MK
GFHHE] I Eh 682-4 1,194 H
ol I Ei 6] 682-6 42 MK
GFHH] T sEh 434-1 3,465 3]
GFHH] HE Eh 459-3 489 H
ol I Ei B 882-1 655 MK
GFHH] AT Eh 887-1 807 R3]
GFHH] I Eh 907-1 1,087 3]
BFHH] I Ei ) 919-1 902 MK
BFHH] T Ei 6] 919-3 85 il
GFHH] I E= 593-2 1,087 H
BFHHE] A E= 551-1 706 H
AFH] A it 13-1 1,269 K
GFHH] I LA 13-2 9.91 3]
GFHHE] I it 96-2 1,086 H
ol A ] 124-1 2,764 MK
GFHH] I i 9-1 1,212 3]




T4 RF(HT) 7 S EfE(m) LS
AHH] A it 124-3 1,093 H
GFHH] =R 1= 727-1 1,210 H
GFHH] =R =R 1540 366 MK
AFHH] =R =R 1548 790 H
GFHH] =R =R 2287 2,241 MK
GFHH] =) 1R e S 231-1 522 M
GFHH] =R OiE S 235-1 1,229 =
aFH] =R OiE S 239 1,910 H
GFHH] =R 5 24-1 320 il
GFH] =R T5 29-1 660 =
GFHH] =R H5 113-2 840 H
GFHH] =R H5 3112 1,590 H
GFH] =R %5 73-9 997 H
AHH] =R £5 73-14 928 H
GFHH] =R =R 623-1 1,582 3]
GFHH] =R RER 295-1 658 53]
AFHH] =R thZR 266-39 439 il
FERLLIET (BES =20 326-1 650 H
FERLLIHET CL ] & 589-1 477 il
FERLLIHT R a 589-2 77 A
FERLLIHT SREEEF B || 120 1,004 3]
FEHLLIET FHRE “ 587 487 il
FEHLLIHT TR “ 602 617 M
FERLLIHT SREEEF Hiz) || 117-1 588 MK
FEHLLIET SREEEY o) || 118 552 MK
FEHLLIHET L] a 590-1 1,002 =
FERLLIHT R a 590-2 64 il
FERLLIET FHE a 444 795 H
FEHLLIHT FHRE il == 76 244 MK
FEHLLIET R [ = 78 634 MK
FERLLIET FHE 78 A 81 304 R3]
FEHLLI T E2) ERAHER 249-1 125 MK
FELLIHE] T ERAER 250-1 109 H
FERLLIET ) ERAHEIR 250-2 86 H
FEHLLIET ) CRARER 103 919 il
FERLLIHT T FRAER 20-1 407 H
FERLLIHT T CRAER 20-2 282 K
1l = E 78 1,314 3]
B RE AHE 81 679 MK
LyNpAiil} R O 290-1 985 MK
N RF 1RO 291-1 511 H




I E] A K= (H) ¥ tih e EfE(m) thE
AT HE] £ TRET 6-1 2,565 A
ARTEHE] = RET 6-2 264 F
HATRE] = TRET 7 1,452 mH
ATRE] = TREF 8 1,164 H
AATRE] 2 TRET 18 746 mH
ESfEH] &t &H 173-1 927 il
EEEH] st Pt 105-2 446 mH
EEEH] st Pt 101-4 66 il
EE(EH] S (EES 84-1 796 il
AREFH] AL FH/ A 45-1 684 F
HREFH] A FH/A 47-1 763 A
AREFE] A FH/A 47-2 928 mH
HREFH] )i [ 19-14 847 il
RAHLUET  [BR BT 104-1 521 mH
DHEH] *+H Ry 369 601 mH




